2023 & 2RF Y BEX LRI
PEBHER FRRETERA

‘iéﬁi:}i"‘gﬁﬁ%ﬂ%%?’f&ﬁf_iﬁ*‘ﬂﬂkélhi,ﬁ’ﬂ-«—ﬁﬁp ik E B
FERERAF R BE R P2 BREC B RRARE L HD F7 ﬁ*a’
EREFFTRA B L S o P S PR AT
(1) 2E2F2F?RECERRARED (¢ 7 22PFHAMP EL )
(2) ‘2}4\1—‘%{/‘?%\“‘ FARREF w%uﬁ':‘%_ﬁ?f CAX LA - 3EIF P E L
AHFFoGrERRAAFRY FRPY)
(3) 2P gAY p AR LG E(7)LEF o
(4) %\B BYRT L AALE - EF o
(1) #rpen FHELAIREFETEFRLFF ¢ http:/la.tnu.edu.tw/ -
2) g hERFE PR iﬁf#ﬂ“i#“ﬁ? E : http://la.tnu.edu.tw/ °
@) ##H-Fe pFHH AT PEETRR LY - ERE WL ST
*;w B3 SELIEIES R & B - L s - REC L Ly
A TpFREETRR 3P é€T°€%‘Eﬁﬂ‘ﬁl’}‘\ﬁ“i%’é5§ﬁ’—_iﬂ—‘§Ei\%gﬁﬁ -
PrEFAR L0600 FHEBFEM (A BRI EF LW S ) DR
FAR R LA FHE A (RN EMP3 e BT AL N
WS- ) - B
B.T P #Faceh 3P &ae#d <273
FEhE R P ) ’““#ﬁﬁaﬂ"i%%ﬂﬁs“ .mﬁ; Lgenip B iE
ek oo
CTPFiBnEF R »5 5 iﬁ(‘f\’ﬁ*u;é PeAphd a8 4)% - e
e 2hp 2 AP ML E L) TP FRh ) R e e o
(4) 2023 & 03 * 31 p = > @edfa(7 &5 4% MP3 §3%),/p EP-deehd &
Bihe AT KRTERFRL AA T AFEF Lo
(5) 4r3 3 FF’ :(02)8662-5990 3% 309 +++ K| (0928899487) (gFs (02)
8662-5990 #& 308 (0933165834) 2 %% XfF o
Q) g;f_;ai%&gt- 2 % 13230 A o
(2 AFiAFUAIRINEFT pHITLI2023E 040 19p (2Hz=2) B
R IAPRF= LA I e+ T ¢ - BEik-
(4rig 33 % {87 7 4v)
*‘ﬂ)@??ﬂ‘]ﬁ#”#‘ AR S RS & IR S AV s R R M
S FEF ONFF LA CIRERE WY E W A p AR
FHWOR &F‘fﬁ%d#*’fﬁb AEREPE)-

B
He



http://la.tnu.edu.tw/
http://la.tnu.edu.tw/

dOP K ET TP ERRETIAR, ER P F e 0 TP E
M B R 8 - e Ty O R i ol e R A Ry
FimA B Ak o SIS BE A Nk 12 4 2957 o

21 P F IR EFRREE TS RE

LR
REARZFER

AR CERLLAR

2%~ ERLDFER
2 (R ge)
hib (BRAHET)

S
40%
20%
20%
10%
10%

32~ B iR ERE TS R

AR

R (W% ~38)

BAER (H4 A NLDAER)

Fh (FrBH7 - RTR)
ks (BRARET)

P 3Bk EIE
30%
30%
20%
20%

PR E AR P AR BT A Sk 30 k42 4 57

A3 - PERBREFARLECG A R/F Y )R FRTA

7 ==

2, % WA F AP 3
5,000 ~z kg £ R~
-k BUFFET # + & % (2 %)
¥- ¢ 4,000 ~ 2 gk g £ AR
¥zt 3,000 ~ 3 gEk v £ R
B%Q ) BrRAERIER
i e ok

(o) st £ 0 p s £ s



34~ P EHhL b BT

s FHRBE AN F
- 3,000 =2 gk fF £ R
- % 2,000 ~ 2 gER SR £ AR
¥z ¢ L000 =~ 2 ek Sroff £ 5

BHQ 7) MR A S
@ e g

()] “RHE : pEEERS

35+ 03RRI E AT

2N WHRRFRAEPL F
- & 3,000 ~ = phik i £ R
5= % 2,000 &3 fhik it £ AR
¥z % 1,000 ~ 2 gk vt £ fEx
B%Q2 %) o o p
%1% fx

[:x) H 2 pFEr s

AR A PEAE KRPTEFE L
P AL R 3 A AR R RE AT



